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During child development, this stage is called as period of
exploration

Late Childhood
Early Childhood

Early Adolescence
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Late Adolescence
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A student knew the answers to both the questions given in the
examination but only one has to be answered — The conflict faced by
the student in this situation

1. Approach — Avoidance

2 Dual approach - Avoidance
3. Approach — Approach
4

Avoidance - Avoidance
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The author of the book “Hereditary Genius

1 Francis Galton

2 Robert H. Goddard
3. Kellog

4 W.B. Watson
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“Teaching aptitude Test’” is meant to assess the following aptitude

1 Scholastic
2 Aesthetic

3. Vocational
4

Interpersonal
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The important physical factors that affects the personality of a
person

1. Endocrine glands

2 External characteristics
3. Internal characteristics
4 Attitudes

5G8 DY (PAS0 WD TOTE UG SpgRsd
L @08 (foen
aPZJ°§ ©ETe

€90e55¢5 ©EETON
A aQ

Ll

SPpLoew

A girl wanted to go for higher studies but due to family customs her
parents did not agree to send her to another place for studies. The
obstacle faced by the girl

1. Physical obstacle

2. Physical Environment obstacle
3. Mental obstacle

4. Social Environment obstacle
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If a student’s chronological age is 8 years and the mental age is 10
years, his Intelligence Quotient is

a8 58 F°05 S050R0) 8 HOIBYTen, ISV Sy 10
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1 80

2 125

3. 120

4 100

Teacher cannot estimate the following by studying developmental
principles

1. Individual differences in the children

2. Socio economic background of the children

3. Capacities of the children
4,

Learning readiness of the children
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10.

A child wants to copy in the exams, but he hasn’t done it, as copying
is immoral. Childs stage of morality in this case is

1.

2
3.
4

2" stage - Pre conventional level
1% stage - Pre conventional level
5" stage - Post conventional level

4™ stage - Conventional level
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Asking the student who got 1 rank in the state to speak about his
experiences is

1
2
3.
4

Observation Method
Interview
Introspection Method
Case study Method
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12.

The behavioural Model that can protect an individual’s Ego from
anxiety, dishonor and guiltiness is

1. Adaptation

2. Adjustment

3. Conflict

4, Defense Mechanism
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The child who has an experience of looking at a dog, calling the ass
also as a dog since, it has also four legs — This cognitive process is

called
1.
2.
3.
4,

Accommodation
Organisation
Assimilation

Equilibrium
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According to Maslov 'Social Status' comes under

1
2
3.
4

Safety need
Need for self respect
Need of self actualization

Love and belongingness need
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Anitha took 40 minutes of time to learn a list of meaningless words.
After a week she took half an hour to relearn the same list. Saving
score of Anitha is
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20%
25%
30%
40%



Author of the book 'On Memory'

1 Ebbinghaus
2 Thorndike

3. Galton
4

Zeigarnic
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Kiran is a good baseball player. Now he wants to learn Cricket, the

type of transfer of training will be

1 Positive transfer

2 Negative transfer
3. Zero transfer
4

Bilateral transfer
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18.

One of the following doesn't belongs to Cognitive domain

1
2
3.
4

Application
Synthesis
Responding

Evaluation
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Ravi is doing a project on Mathematics. Teacher while observing
Ravi gave encouragement for every 10 minutes to complete the
project. Here, the type of reinforcement used by the teacher is

1.

2
3.
4

Continuous reinforcement schedule
Fixed interval reinforcement schedule
Fixed ratio reinforcement schedule

Variable reinforcement schedule
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20.

In Pavlov’s experiment ‘food' is

1 Conditioned response

2 Unconditioned stimulus

3. Unconditioned response

4 Conditioned stimulus
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One among the following is not a Gestaltist

1 Kohler

2 Sulthana
3. Kofka
4

Max Wertheimer
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22.

Incorrect statement regarding operant conditioning

1
2
3.
4

This is known as R type learning
Follows the principle of whole to parts
Learner plays active role

Condition is done between response and result
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The theory of ideals was proposed by

1
2
3.
4

Charles Judd
Thorndike
W.C. Bagley

Gestaltists
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24,

Dysgraphia refers to

1
2
3.
4

Arithmetic disability
Reading disability
Writing disability

Oral - language disability
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The counseling method in which the counselee gets speedy help

1
2
3.
4

Directed Counselling
Non — Directed Counselling
Eclectic Counselling

Mixed Counselling
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26.

The correct sequence of Herbartian steps

A) Preparation
B) Presentation
C) Association
D) Generalisation
E) Application
F) Recapitulation
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1 A B,C, DEF
2 B,A CDEF
3. B,ADEFC
4 A B,D,CEF

Incorrect statement with reference to advantages of Teaching

Learning Material.

1 Acts as re-inforcers

2 Used as alternative to direct experiences

3. Retain the attention of the students

4 Simple concepts become complex
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‘Right to Nutritive food” belongs to this category of child rights.

1 Right to Participate

2 Right to Survive

3. Right to Protection

4 Right to Develop
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According to NCF-2005 time to be given for Home Work for I, 1V,

V classes is

1 Home Work not to be given
2 Two hours per week

3. Every day one hour
4

Two hours per day
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30.

In this teaching method the students gets field based experience.

1 Projects
2 Lectures
3. Lecture demonstrations
4 Group discussions
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In this group the values and thoughts of the members are alike, even
though they are far off from each other and may not met all the time.

Face to face group
Co-acting group

Primary group

> o np e

Invisible group
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62.

63.

64.

English — Paper —I — Set - 7

Choose the correct sentence regarding the use of 'neither ..... nor".

1. Neither Raju nor his friends do not go there.

2. Neither Raju nor his friends does not go there.
3. Neither Raju nor his friends does not goes there.
4, Neither Raju nor his friends do not goes there.

He left behind some food.
The meaning of the phrasal verb 'left behind' is:

1 leave something as a token
2 left something as a token
3. ate slowly

4 had slowly

Choose the model auxiliary verb that can be used to express ‘ability'.

1. might
2. could
3. should
4, may

Choose the sentence that has a noun clause.

1. Mohan said that he wanted to go there.

2 Mohan told me a story.

3. Mohan told me a story with five characters.
4 That was not an interesting movie.
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66.

67.

C.V. Raman, who received the Nobel Prize, was a great Indian

Scientist.

The part of the sentence, 'who received the Nobel Prize' in the

sentence above is:

1.

2
3.
4

a finite clause
a main clause
a defining relative clause

a non-defining relative clause

Let's meet at the station, ..............

Choose the correct question tag to complete the sentence.

1
2
3.
4

don't us ?
would you ?
shall we ?

will you ?

With the tree grown tall, we get more shade.

The part of the sentence. ‘we get more shade' is:

1.

2
3.
4

a finite clause
a non-finite clause
a relative clause

a subordinate clause
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69.

70.

71.

Choose the correct "Yes / No' question.
1. Does he reads novels?
2 Are you read novels ?
3. Won't you come here ?
4

Do you are a student ?

| have lived in Hyderabad for ten years.
This sentence means:

1. | started living in Hyderabad ten years ago and | no longer
continue to live in Hyderabad.

2. I am living in Hyderabad and I will live in Hyderabad for ten
years.

I live in Hyderabad only for ten years.
4. I will not live in Hyderabad after ten years.

Ramya said, "Are these fabrics from Indonesia?".
Choose the reported speech of this sentence.

1. Ramya asked whether those fabrics were from Indonesia.
2 Ramya said that those fabrics were from Indonesia.

3. Ramya said if these fabrics are from Indonesia.

4 Ramya said that these fabrics were from Indonesia.

It's time you ............... to bed.
Choose the correct verb that fits the context.

1. go

2 went

3. will go
4 had gone
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73.

74.

75.

"I have plenty of food, cousin,” said the boy.
The reported speech of this sentence is:

1 The boy said that he had plenty of food for his cousin.
2 The cousin said that boy had plenty of food for the boy.
3. The boy said that his cousin had plenty of food.

4 The boy told his cousin that he had plenty of food.

Indira wishes she .................. a new car.
Choose the correct verb that fits the context.

1 had

2. has

3. doesn't had
4 will not had

He is swimming in a pool.

In the above sentence, 'swimming' is:
1. a helping verb

2 a gerund

3. a past participle

4 a present participle

We had to sleep on the floor as there were .................
Choose the correct phrase to fill in the blank

1 not beds enough.
2 not enough beds.
3. enough beds.
4

beds enough.
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77.

78.

79.

No sooner had | put the phone down than it rang again.
The meaning of this sentence can be expressed as :

1. Before putting the phone down, it rang again.

2 | put the phone after it had rung again.

3. After the phone ringing again, | put it down.
4

| had scarcely put the phone down when it rang again.

Choose the word that can be used to write an adverbial clause of

reason.
1. as

2. if

3. when
4. who

Choose the correct noun phrase with the correct order of adjectives.

1 A beautiful umbrella red
2 A beautiful red umbrella
3. A red beautiful umbrella
4

A umbrella red beautiful

| don't like cricket because............... cricket is an expensive game.
Choose the article that fits the context.

1. a

2 an

3. the

4 No article is needed.



80.

1,

2

3.

4
[81-83] -
81.

If the rain stops, we will go out.
This is:

a simple sentence
a compound sentence
a complex sentence

a compound complex sentence

Read the following passage and choose the correct answers to
the questions given after

Nehru's was a many sided personality. He enjoyed reading
and writing books as much as he enjoyed fighting political
and social evils or residing tyranny. In him, the scientist and
the humanist were held in perfect balance. While he kept
looking at special problems from a scientific standpoint, he
never forgot that we should nourish the total man. As a
scientist, he refused to believe in a benevolent power
interested in men's affairs. But, as a self proclaimed non-
believer, he loved affirming his faith in life and the beauty of
nature. Children he adored. Unlike Wordsworth, he did not
see them trailing clouds of glory from the recent sojourn in
heaven. He saw them as blossoms of promise and renewal,
the only hope for mankind.

Nehru thought that:

WD

Children were trailing clouds of glory.
Children hold promise for a better future.
Children were just flowers.

Children hold no hope for mankind.



82.

83.

84.

85.

86.

Nehru enjoyed:

1.

2
3.
4

reading but not writing books
not fighting social evils
smelling flowers

reading and writing books

A 'many-sided personality’ means:

1.

2
3.
4

A personality that cannot be understood.
A secretive personality.
A person having varied interests.

A person having interest only in science.

Choose the antonym of 'earnest'.

1.

2
3.
4

audacious
tremendous
terrible

frivolous

Grammar translation method lays stress on :

1.

2
3.
4

accuracy
similarity
listening skills

hand writing

The objective of the Direct method is:

1.

2
3.
4

to develop personality
to develop health

to increase the power of comprehension

to develop a command over the target language
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88.

89.

90.

The following is not true regarding language

We can set a standard length to a sentence

2. We cannot find equivalents for all expressions in other
languages

Language exhibits prevarication
Language is extendable

When the reader is looking for specific information he / she adopts
the technique of:

1. intensive reading
2 scanning

3. skimming

4 extensive reading

The following promotes thorough understanding of the content or
concept.

1. Intensive reading
2 Scanning

3. Skimming

4 Checking

A set of co-relative assumptions dealing with the language and
learning is:

1. A method

2 A technique
3. An approach
4 A trick



91.

92.

93.

KBS TR0 - D8 - 1- D& -7

When the integers —4, 8, —7, 5, =5, 1, 6 are arranged in descending
or ascending order. This number always remains in the middle of

the arrangement

—4,8,-7,5, =5, 1, 6 Jogopsemd es8%5ey B 9385
($5008° TP IYIPET 5655 &0t Bowy
1. —7

-5

The additive inverse of —g IS

—g Boo), Hoses IS"HI.

1. !
9
2. 0
3. !
9
s, 2
=
The value of J0.9x+/1.6

J0.9x/1.6 dewss

1. 0.12
2. 1.2
3. 12

4. 12.1



94.

95.

Match Column-1 to Column-2 in the following
SPO0-1 5 SPoN-2 & #EVST08.

Column-1 Column-2
@ L3 1 1

2 4

2 . 2
(b) 3 + (-1) (2) 3
() 257 3) 1

5 (-5 )
@ 3 [ﬂ w 2

The smallest fraction of the following is
$o&5 3522é8 HIY® IO

1, H
10
2. U
9
;. U
;
s, U

6



96.

97.

If x = % andy = g then the value of (x+y) = (X=y) is

X = % S8 Y = g oG (X+Y) + (X—Y) dews
. 2
.
2. 2
.
3, [
5
s, !
5

0.07 + 0.008 + 0.9 is equal to
0.07 + 0.008 + 0.9 § 335058

1. 0.789
2. 0.987
3. 0.978

4. 0.897



98.

99.

Suppose for the principle P, rate R% and time T, the simple interest
is S and compound interest is C. Consider the possibility of
@ C>S (b)C=S (c) C<S

1. Only (a) is correct
2. Either (a) or (b) is correct
3. Either (b) or (c) is correct
4, Only (c) is correct

oo (P) 3&Be» (R%), sPoo (T) Hoasn Fase 3& (S)
a0 B(ESE (C) @059 (§od S° g og
(@ C>S () C=S (c) C<S

1. (8) o7& HBTSH
2. (2) B> (b) ¥BFEISE
3. (b) S (c) ¥BFEISE

4, (€) 37X HBFoSH

The ratio of Rs. 8 to 80 paise is
Son 8 05 80 P00 Ko ARG

1. 1:10
2. 10:1
3. 1:1

4. 100:1



100.

101.

If two cardboard boxes occupy 500 cm® space, then the space

required to keep 200 such boxes is (in cm®)

B0 egypBen 500 0. 0., YOrR) e(EWT woroed 200
oD THEIF OSOTHS oo (R0.ly” 0

1.

10,000
20,000
50,000

1,00,000

A solid with one circular face, curved surface and one vertex is

known as

1. Cone

2. Sphere
3. Cylinder
4. Prism

28 SYTFE S0, JES©0 DO &8 YIS SORDY)

DWI°SB0

1. FoP
2. R0
3. QI°N0

L

P
&80
[A]



102. The following letter of English alphabet have more than 2 lines of
symmetry is
808 0K 500’ BOKET) IS FRTTO SORNY) 500

1. Z
2. 0
3. E
4. H

103. If the side BC of AABC has been produced to the point D.
If ZACD = 115° and £A = 45° then the value of «B is equal to

AABC &° BC 2hzsw D 555 PEA0H2ES58. LACD = 115°
558050 2A = 45° 025 2B §%30 Jens

1. 45°
2. 60°
3. 70°
4. 115°

104. The area of a rhombus whose one side measures 5cm and one
diagonal as 8cm is in cm?
20220 5 0.2, 25 550 8 0.20.7 SOAS croad Jreso

3.20.20.08°
1. 80
2. 48
3. 40

4. 24



105.

106.

Match the Column-1 and Column-2.

Column-1 Column-2
(@ 1 mille litre (1) 1000 cm®
(b)  1litre 2 1m
()  1Kkilo litre (3) 1cm’

PoR-1  eoin-2 &° 2esDSHHS0.

Too-1 To-2
() 1 209Dexs> (1) 1000 0.2°
(b) 1 Hessss 2 1 %°
(€)1 &5°erco> (3) 120.%°

1. @-3 (b)-2 (c)-1
2. (@-2 (b)-3 (-1
3. (@-1, (-2 (c)-3
4. (-3, (-1 (©)-2

A path of 5m width runs around a square park of side 100m then the
area of the path in square metres is

1002, 25230 Ko 2.5 SEOTIPTE FoaPS0 St 2005¢ 5ad. Iee0)
Ko 20 Soth. ©0nS wré 3F050 3.00.08"

1. 500
2. 2100
3. 10000

4. 12100



107.

108.

1009.

Ramesh buys an article for ~ 650 and gains 6% on selling it. Then
the selling price of article is

SR 28 S0 T 650 0% & O 6% FEO G0 FOBS
& SN BAYIIO.

1.

2.

3.

4.

613

644

656

689

A data of 10 observations has a minimum value 20 and maximum
value 35. The mean of the data may be

2.8 S0F08° D8 THoS” 5P Jwos 20 S0 KBR Jews 35
00T D H8BoSOS® BXERAT GoESASE

1
2
3.
4

15
20
25
35

The angle at the centre of the circle in a pie chart is
518 BprdgoS® SyEBo(o S T §e0 Jeos

1.

2.

90°
180°
270°

360°



110. The number of trees in different parks of a city are 33, 38, 48, 33,
34, 34, 33 and 24 then the mode of this data is

2.5 SKE0S° DA e &Y) Tgy Vopy SWH
33, 38, 48, 33, 34, 34, 33 005 24 O WTVIEO,

1. 24
2. 34
3. 33
4. 48

111. Upper boundaries of class intervals 11-20, 21-30... are
11-20, 21-30 SEKE© S Toehed SEI...

1. 10.5, 20.5
2. 11, 21
3. 20, 30
4, 20.5, 30.5
-4 3 s
112, |If ?y = then the value of *y’ is
_?4y = % 2003 1y’ e
1. 1
2
> 3
4
2
3 (Ej
4
2
4 (ﬂj
3



113, (1°+2°+83°) is equal to

(
(l° +2° +3°) 998 B BITSI»

1
2
3
4

114. If P =42 T=5x and R =5y then the value of % is

P =4x2, T =5x 5805 R =5y o % DS
1. X’y

2. 25x°y

3. 14x%y

4, X’y



Paper-1 Set-VII Maths Methodology

115. “Mathematics is the science of quantity” defined by
1. August Comte
2. Aristotle
3. Henry Poin Care
4. Locke

“He3BH0E DOIrer FRO” @ IFDODII

L eng &

2. 008S

3. W Fandgd
4. er§

116. The value developed among the students by solving the “Number
patterns, puzzles, magic squares, riddles etc”

1. Disciplinary value
2. Cultural value

3. Recreational value
4. Utilitarian value

“ROPEI ST e, DRS), STARSETres, D)D" BRI
BO0HE T ITFROSE” OF0H Jeos
<)

L (085 dens
@oé@eﬁ% DS
Z)SGCSZQ) RISOIN

~wN

@BIBS DS



117. The character that does not belong to “Induction Method”

118.

1.
2.
3

4.

Unknown to known

Example to principle
Concrete to abstract

Specific to general

808 TIS° KBS HEBS ToED wFEIS.

1.

e N

The instructional material that is useful to explain “Place Value
1.
2.
3.

4.

BOANI A0 o0& BOVS AT
ETPTEE 0% W B8

507 DATFOHO0E @ VAATFOD
BE 00 HoD FETEITBOBEO

Cubic rods
Geo board
Dominos

Abacus

“P SIS SO0 EDETNHE S5 SPES e S0

1.

2.

DITTEY 56
ARTS

o
= STen

FORSISIEN(0h]e)



119. The step that is not in “Herbart lesson plan steps”.

1 Application

2. Association

3 Recitation

4, Recapitulation

"G FBHEE FrIT0” 58

1. @?5030530

2. éobc/jo

3. S8RA0E0
(qp]

4. ‘@5603;5362?

120. The academic standard to be tested through the following test item

“Express 456 in words”

Representation
Communication
Problem solving

b

Connection

“456 & 500" 0°H0s” BATNoe 98305EeNS
DTGDST°EIS

1. lciilalvslelete

Sg§HTE0

DJFg FES

e N

€I 0NVOFCS0



121.

122.

EVS - PAPER-1-SET -7

Identify the stem modification and root modification respectively

1.

2.
3.
4.

Potato and Onion
Onion and Ginger
Potato and Carrot

Beetroot and Carrot

808 TAS° 5708 SrPoBL0, JETI0BTPe) SV

1.

2.
3.
4.

20MTPHL0D B3 ég
&8 50005 @Yo
2DOITPHON 508050 58S
DESEES 58050 5255

The small apertures present at the both sides of cockroach are

1.

2
3.
4

Nasal apertures
Trachea
Anal apertures

Spiracles

FROE TS g FTY armed’ &0t DY) DY) Solgen

1.

Lol

J°BSTO(Pen
(ee8asoe
TS|

FHOTOPe



123.

124.

'Apis tincture' is made of
1. Honey

2. Honey bee venum
3. Honey bee wax
4,

Honey bee excreta

‘0D eSog)S’ BAS® S$A3E:Hes08
1. 33

2.  B3dKe o
3. &38Ke so

4. B3Ko g0

Identify the incorrect pair with reference to vitamins.
1. B, — Beri Beri

2. B, — Glossitis

3. Bs - Anaemia

4. B1, — Pernicious Anaemia

QIO D000 VOSI WA KOO0

1. - 23030
2. D, - TR
3 Dy - 9D AT

4. D, - 2ERDT @AW



125. The ultra violet rays coming from the sun are controlled by

126.

1
2
3.
4

Carbon dioxide
Nitrogen
Ozone

Humidity in the atmosphere

RPEgR 5006 :5:33 9BDOS IS BeT O OIS &0HSO

1.

Ll

SN
S5

L8N
FTSE085°) B

The scientist who invented Hydrogen gas is

1
2
3.
4

Joseph Priestly
Henry Cavendish
Lavoisier

Von - helmant

TE RS TANIJDH SDAY) KIS

1.

27Q SINER
GRE-TA1S)
> - 75"87"&05



127.

128.

The motion seen in the wings of ceiling fan is

1 Irregular motion

2 Translatory motion
3. Oscilatory motion
4

Rotary motion

SOOR S 3K 08° &od FoS0
L (E0rS Soso

2. égmoéci SO0
3. S Sos0
4. (@S0 S0S0

Hemaoglobin : Iron : : Chloroplast :

1 Magnesium
2 Potassium

3. Calcium
4

Mercury
TRILDS 1 g0 11 0SB
1. Syacso

FPEIPNAI0
5290300
o

Ll

Bodab_zga



129.

130.

The scientist who observed the formation of electric current when
the magnet moves in and out of a coil

1 Newton

2 Michel Faraday
3. Stephen Hales
4

Engine House

BASGS” @) 0 B Fe SBDOATY)E WS (DI0
D)0 YOS FVIS

L SrgeR

2. IS >
3. g T
4,  0BITTE

The place, India occupies in the world on the basis of area

2" place
7" place

4" place

A WD

8" place

STOgHCOMN ($90308° ISR S0
1

BO&ES
2. NeEs
3. J°0S
N

4. DAAESS



131.

132.

In woolen industry carding means

1
2
3.
4

Colouring
Combings
Spinning
Washing

&) HOFE” 5°PoR s

1.

WD

B0Koe0 F0360
CSJQSOS@DO
B0
E&K&0

'‘Cusec' means

1
2
3.
4

Cubic meters / sec
Cubic centimeters / sec
Cubic feet / sec

Cubic millimeters / sec

‘§3°§?o§’ 9377

1.

L

SrgDE &by / 8™
508 08We8) / DE®
§J°§2‘D§ 28/ ES

§3°5€)§ Zbc?q 3)0&35\) / 8



133.

134.

In an iodine test a material turns into blue black in colour.
The material contains

1 Proteins

2 Fats

3. Carbohydrates
4 Fibers

25 BT oBraS 185 DA b DTy ToKHIH $r808.
& HgoS” &),

1L STOVEYByen

2. (§Jge0

3. 20&DTTOD
(&)

4. %Iaﬁobcsocgw

The devise which automatically turns off when current in a circuit
exceeds the safe limit is

5365 DOH & 3@55 (B0 SD)TYYEL SS0S T
esAPa 3@55 SOOI eHR HBELO

1 LED
2 MCB
3. KWH
4 ISI



135. Founder of Mouryan Empire
1 Sivaji

2 Ashoka

3. Chandragupta

4 Srigupta

;53"’65 3"@5%5 b;‘é&céo

1. RN

2. 95 55

3. SoKIy
4. Brogm

136. Andhra Pradesh belongs to this Physical Region of India.

1. Central India
2. Eastern India
3. Western India
4,

Southern India

e0(FPTT OO wrEBIY s TR VY $08e°d8 Bood.

1. Aalafy o853 F0
D) LTS SRFO
SB)% 2SS RFO

Ll

36 28esBFo



EVS - Social - 235 -1-28 -7

137. Andhra Pradesh share boundary with the following states
1. Tamil Nadu, Maharastra, Odisa, Telangana
2. Telangana, Chattisgarh, Odisa, Karnataka
3. Odisa, Telangana, Karnataka, Tamil Nadu
4. Odisa, Telangana, Kerala, Tamil Nadu
SO|FPBIE" DOTER DOBLOLY) TVEren
1. BT, DI, 2bd°, BOONET

Boorer, SEIWNE, w.é, ST
2.6 3°, BOOMCET, §G;)éo§, SSAOFIED

Ll

2,83, BOOMTET, TEY, ST

138. The present Grama Sabha consists of

Ward members
Sarpanch

MPTC’s

All the voters in a village

> e

(BR98 (D dalgen

—0

1. vdcoa K>2;535e:o

2. bciojog

3. 00.2.83.2.e0

4. 008 LegosE



139. The capital of Ikshvakas was

1 Dhanyakatakam
2 Vijayapuri

3. Prathistanapuram
4

Amaravathi

agfs&@ O~

1. Q°<S§§é3§:5x

2. Demaiyd
3. (POLSIT
4. oHoSS

140. “A Government of the people, by the people and for the people” the

definition for democracy was given by

1 F.D. Rooswelt

2 Abraham George

3. George Washington
4

Abraham Lincoln

“(DoBooY), (PEoB, (PRoFTH SEB (HL0E[0” T (PeIiS)
K)czgé’)o{’mmdo

L BG83

®(2:3%0 &°9

S s"i’qoe?gé_

Ll

o(@5%0 o5



141. Different forms of condensation of water vapour like dew, fog, rain,

snow are known as

1 Precipitation
2 Condensation
3. Humidity

4 Water cycle

oS B D0, PKSO0TON, Sgorw, ehxson DS
DECEY) T DO

1L es¥>so
2. (BdsS0
3. Sl(eli

4 2oWE0

142. India receives most of its rainfall from

1 South west monsoon

2 North east monsoon

3. South east monsoon

4 North west monsoon

PPESTTIE D) I STYT) 200S0DSTe
1. S22008 2208 DII°

2. é%ra"c‘ég 220080 DII°eV

3. e:ﬁi)o‘i) 2300 80D ST

4, J"o‘éossag 2300800337



143. The Nawab of Bengal defeated by the English Britishers in the

Plassey war

1. Hyder Ali

2. Jahangir

3. Sirajuddoula
4, Tippu Sultan

ngo oﬁ;oCQSoeS’S &SORA00 B8S° £.8D0nS BorS Sz

1. ’QCSS esd)

2. 2ssoRE

3. doPerd e
Q

4. 35y Der

144, The mountains that are in the northern part of Africa
1 Himalayas

2 Alps

3. Atlas

4 Drakensburg

SPS° POEO &S Ko Ko DIjEren
1. FANSLSTesoIM

2 955:))
3. DETD
4

@@%&g



EVS Methodology - PAPER -1 -SET -7

145. Integrated science kit was supplied to these schools.

1 Primary schools

2 Upper primary schools

3. Secondary schools

4 Higher secondary schools

BB I TR, T'ET DAY BP0 TadS T
1. (PEWE BT

2 (FEWEHSE FEFToo

3. EoES JETow

4. Sangd D¥osd rEToen

146. 'Frame any 5 questions on the preamble of Indian constitution' - This
question belongs to this academic standard.

1. Questioning and making hypothesis
2 Information skills, projects

3. Experiments and field observations
4

Conceptual understanding

2OS oregol (938 esgrsorr I3 5 (DYoo SairsBcod.
B8 (9F) B2 ITYRIrETAS H0220H0VSO.

L (9§00, HO5wSen FaHEo
DIFTE PyeTges, (FEY BHeo
BETren, 3(EHd8osen

Lol

QAT



147.

148.

One among the following activities can be taken up only by Science

teachers

1 Study of migration of birds.

2 Study of population growth during a decade.
3. Field trips to an industry.

4 Field trip to a health centre.

808 TAS 2.8 K0 ISP GO TS STED
SEAAIAY

1.

Ll

25O J0d eacjzgoﬁmo

25 57y SO0 BT WS ©geHIo
5 BOFHH JSHO5eD

2.8 @SGKZS'SSOLCJ"K)% gké‘;adséoé

A pupil of class 5 has secured 85% marks in summative assessment
of EVS subject, his grade is

55 SEXBS” 2.5 g HOI00 ;o HPHS® DoKTET S ¥
08 S0S° 85% Sty 0 FHOTE, @& (A

1
2
3.
4

+

9]

> > W

+



149.

150.

A teacher can bring out learning aspects like organization,
relationship, concept formation, explanation from the student
through this type of questions.

1 Essay

2 Short answer

3. Very short answer
4

objective

TGO o0& Bs TEII (DO TY0° IFHLDS0, D020 FHS0,
[©) — [©] [©]
2,5"855865&);50, D3B3 S0d BLIFOTOTOR T2 )

1. J"S&)Cir;’a

2. OIS

3. €9¢9 PNV

4, e>§°§e§ &§

One of the following is not a learning indicator of process skills.

1 Classification

2 Measurement

3. Communication

4 Performance

308 TIS° w88 (HEA PYETgR FBook), SRS JEDE
1. Sp5ea0

2. S3°DS0

3. rIRrso

4, AL)ESS0



